Geometry A

Name
6.1 Properties of Parallelograms

Hour Date
Assignment

Find each indicated measure in parallelogram ABCD.

B Cc
1. AB= 10 cm
2. BC=
A D

14 cm

Find each indicated measure in parallelogram ABCD.

D C
3. msB = \\ \
4, m«C .

— Ano 5

5. m«zD

VWXY is a parallelogram. Find each indicated measure. Show all calculations.

6. VX=

W
7. XZ= q
8. ZW=
— A y
9. WY =

= V

Suppose that AB has endpoints A(-3, 6) and B(1, -4).

10. Find the length of AB.
11. Find the midpoint of AB.

12. Find the slope of AB




Geometry A Name
6.2 Proving a Quadrilateral is a Parallelogram Hour

Assignment

Determine whether a figure with the given vertices is a parallelogram. Justify your answer.

1. Q(-6, -6), R(2, 2), S(-1, 6), T(-5, 2); Show all calculations.
Use the slope formula.

Date

Y

Parallelogram? Justification

2. W(-6, -5), X(-1, -4), Y(O, -1), Z(-5, -2); Show all calculations.

Use the distance formula.

Parallelogram? Justification

3. H(5, 6), J(9, 0), K(8, -5), L(3, 2); Show all calculations.

Use the midpoint formula.

Parallelogram? Justification




Geometry A Name

6.3 Properties of Rectangles Hour Date
Assignment
ABCD is a rectangle.
1. If AC =2x + 13 and DB = 4x — 1, find x. Show your calculations. B C
E
A D
2. If AC = x + 3 and DB = 3x — 19, find AC. Show your calculations. B C
E
A D
3. If mZDAC = 2x+4 and m«BAC = 3x+1, find x. Show your calculations.
B C
E
A D
4, If m#BDC = 7x+1 and m£ADB = 9x -7, find m«CBD . Show your calculations.
B C
E
A D
5. Is there enough information to state that the figure below is a parallelogram?

m Justification

6. R is between Jand K. Findnif JR=2n-12, RK =3n + 10, and JK =33 cm.

7. If m£7=5x-5 and m£8=4x+14, find the value of x. T




Geometry A Name
6.4 Proving a Quadrilateral is a Rectangle Hour Date

Assignment

1. Determine whether W(-4, 5), X(6, 0), Y(3, -6), and Z(-7, -1) are vertices of a rectangle. Show all work.
(Hint: use the midpoint formula and distance formula). vt

WXYZ is/is not arectangle.
Justification:
2. WXYZ is a parallelogram. Find each indicated value. 24
W, X
a= mZYWX = A
mZYWZ = mZXYZ = > 50 y
30
R

3. Find the perimeter of ARST .
5y + 18

4, Given: ZA and /B are vertical angles.
Conjecture: ZA = /B
Which of the following would be a counterexample to the conjecture?

A. msZA=45and ms/B =45

B. mZA=100and m«B =80

C. mZA=90and m«B =90

D. None of the above, because the conjecture is true.



Geometry B

6.5 Properties of Rhombi and Squares

Name
Hour

Assignment Date

In rhombus ABCD, BE =18, and AE = 24.

1. AB=_ 5,
2. BC=_____ 6.
3. AD=____ 7.
4. DE= 8.

In rhombus STVR, m £ STN = 25°.

9. mZVIN= 13.
10. m£TVS = 14.
11. mZRVS = 15.
12.m £SRT = 16.

In rhombus RSTV, RS =5y + 2, ST =3y + 6, NV = 6, and m«NTV = 30°.

17. Find the value of y. Show all calculations.

mZAED =

m /£ VRT =
m £ RST =
m«ZSTV =

mZ RNV =

LX]

18. Find TV. Show all calculations.

B c
D
ET
4
ET
R v

Identify the triangle congruence postulate that could be used to prove that each pair of triangles are
congruent based on the given information. If it is not possible to prove that the triangles are congruent,

choose “not possible.”

19.

20. 5 21. 5 22. D £
Q’vf‘ D G F
N A c A c
M B



Geometry A Name
6.6 Proving that a Quadrilateral is a Rhombus or a Square Hour Date

Assignment

Given each set of vertices, determine whether QRST is a parallelogram, rhombus, rectangle, or square.
List all that apply. Justify your reasoning. Show all calculations. vt

1. Q(-4,5), R(4, 1), S(1, -5), T(-7, -1)

QRST is a (circle all that apply)

Parallelogram  Rectangle = Rhombus  Square

2. Which one of the following pairs of slopes are slopes corresponding to parallel lines?
A. > and 6 B. > and 20 C. _10 and > D. > and _9
3 10 3 12 6 3 3 15
3. Which one of the following pairs of slopes are slopes corresponding to perpendicular lines?
A > and 6 B. > and 20 C. _10 and > D. > and _9
3 10 3 12 6 3 3 15

4. Which angle pair are £ 11 and £ 16 in the figure at the right?

A. Vertical Angles (VA) B. Corresponding Angles (CA)
C. Alternate Interior Angles (AIA) D. Alternate Exterior Angles (AEA)
E. Consecutive Interior Angles (CIA)




Geometry A
6.7 Trapezoids

Name

Hour Date

Assignment

1. For trapezoid EFGH, J and K are the midpoints
of the legs. Find JK. Show all calculations.

2. For trapezoid FGHI, K and M are the midpoints
of the legs. Find FI, ZF and ZI . Show all
calculations.

G 21 H

K/M\
M
LT N

3. In trapezoid MNQR, B and C are midpoints of
the legs. Let AD be the median of MNCB.

a. Draw and label AD M 22 N
on the figure.

b. Find AD.
Show all calculations.

R 48 Q

4. In trapezoid HIJK, L and M are midpoints of the
legs. Let NP be the median of LMJK.

a. Draw and label NP H 39 |

on the figure.
|_/ \ M

b. Find NP.
Show all calculations.

K 55 J

5. Verify that A(-3, -2), B(4, -2), C(-1, 5), and D(2, 5), are vertices of a trapezoid. Justify your answer.

ABCD is a trapezoid.

Justification:

Y

O
b J




6. CDEF is a parallelogram. m ~ D = 47°. Find the indicated values.

mzZC= mZE= m~F=

7. ABCD is arectangle. If mZDAC =7x + 1 and mZBAC =9x — 7, find m«£DCA. Show all calculations.

A B
E

D C

In problems #8 and 9, r || s. Solve for X, then find the measures of the indicated angles.

8. ms4=x+35 m«6=4x+10 9. msH5=6x+12, mL4=7x-9
1/2 1/2
3/4 4 34 d
5/6 5/6
778 g 778 d
i i
X = , mz4 = , mL2 = X= , ms4 = , m£6 =

State the property, definition, theorem, or postulate that justifies each statement.

10 CD=CD.

11. If AB=BC and BC =CE, then AB=CE.

12. If N is between M and P, then MN + NP = MP.

13.  If MN = PQ, then PQ = MN .

14. If m£7+m«£8=85° and m«£8=41°, then m£7 +41° =85°.

15. If R is the midpoint of (f then Q_R =RT.




Geometry A Name

6.8 Kites & Quadrilaterals Hour Date
Assignment
1. EFGH is a kite with ends F and H. If EG =30 cm, find the indicated lengths and angle measures.
F
o EB= BG =
62 £ S
c ® G EF = FG =
B
c EH = GH =
o
o m/GBH = m£/BEF =
H

2. Given ABCD is a kite with ends A and C, solve for x and find all missing side lengths.

C

3. Verify that A(1, -3), B(4, -2), C(3, 1), and D(-2, 1), are vertices of a kite. Justify your answer.

Y&

O
b J

ABCD is a kite.

Justification:




For # 4-11, fill in the blanks.

4.

5.

10.

11.

12.

The diagonals of a rectangle are
All angles of a rectangle are

The diagonals of a rhombus are

The diagonals of a parallelogram

Opposite sides of parallelograms are

one another.

Opposite angles of a parallelogram are

and

Consecutive angles of parallelograms are

and

All sides of a rhombus are

Complete the following proof:

Given: C is the midpoint of AD
C is the midpoint of BE

Prove: AABC = ADEC

Statements

Reasons

1. Cis the midpoint of AD

1.

2.

2. Midpoint Theorem

3. Cis the midpoint of BE

3.

4.

4. Midpoint Theorem

5.

5. Vertical Angles Theorem

6. AABC = ADEC

6.




Geometry A Name

6.9 Constructions of Quadrilaterals Hour Date

Assignment

1. Construct a parallelogram.

2. Construct a square.

3. Construct a line that is parallel to line n, passing through point A.




4. Construct the bisector of ~M .

5. Construct a triangle with side lengths given below.

6. Determine whether the quadrilateral with the given vertices is a parallelogram, rectangle, rhombus, or
square. Circle all that apply. Show all calculations.

B(0, 3), E(6, -2), F(1, -8), G(-5, -3)

BEFG is a (circle all that apply)

Parallelogram  Rectangle  Rhombus  Square



Geometry B Name
Chapter 6 Additional Practice Hour Date

Assignment

m = YoV
Slope X2 =%
(&+Xzyz+wJ
Midpoint 2 2

Niatan~n d= \/(Xz - Xl)z + (yz - y1)2

3. In parallelogram DEFG, m ~ FGE = 4x + 1 and m £ DEG = 6x — 15. Find m £ FGE.

D T E

G F

4. Suppose parallelogram HIKL has vertices: H(1, 1), J(2, 3), K(6, 3), L(5, 1).
Find the coordinates of the intersection of the diagonals. Y7
Show algebraic work! (Just graphing is not sufficient)

For #5 and 6, find the values of x and y so that each figure is a parallelogram. Show all calculations.

5. 5y° 55° 6. 0y~ 44

11x°




7. CDEF is a parallelogram. Find each indicated value. Show all calculations.

CD = D

EF =
aw + 8
mZF =

m«ZC =

8. In quadrilateral RSTU, m £/ R =6x -4 and m £ S = 2x + 8. Find the measure of each angle.
Show all calculations.

m<R = A - s

m«S =

mT = U T

mzZU =

9. ABCD is a rectangle.

a. IFAC=5x—-9and DB =2x+ 12, find x. Show all calculations.

A B
E
D C
A B
b. IfBE=8y—-4and EC =7y + 3, find DB. Show all calculations. E
D C

10. In rhombus DKLM, ML =40, MK = 64, and LA = 24.

a. AM= e. MD = D K

b. KL = f. KA = A

c.DL= g. DK =




d. AD =

11. In rhombus DKLM, m £ MDA = 52°.

a.m £ DKA = e.m£DKL = D
b.m/ZLAK = f.m«£MAD =

c.mZLMA= g.mZMLK =

dm£ZKLA= h.m«ZDMA = M

For #12 and 13, determine whether a figure with the given vertices is a parallelogram.
Justify your answer algebraically.

¥

12.  A(-2,3), B(4, 2), C(5, -3), D(-1, -2)

Is ABCD a parallelogram? Justification

13.  G(-3,0), H(2, 2), (1, -2), K(-4, -3)

Is GHJK a parallelogram? Justification




14. Complete each statement about parallelogram LMNP. Justify your answer.
Statement Justification

e SHSHTEAHOn D K
a.WH a. V
AN

b. /DKL = b.
c. DK = c
d. AL = d

For #15-18, determine whether each quadrilateral is a parallelogram based on the given information.
Justify your answer.

17. Is there enough information to state that the figure at the left is a parallelogram?
\/\ ‘ \S\ Justification
18. Is there enough information to state that the figure at the left is a parallelogram?

GHH Justification
F J

For #19 and 20, determine whether each quadrilateral is a rectangle based on the given information.
Justify your answer.

19. Is there enough information to state that the figure at the left is a rectangle?
- = Justification
ml ]

20. Is there enough information to state that the figure at the left is a rectangle?



JKLM is a parallelogram.
KM = JL

K L Justification
J t j

M

22.  R(-2,5), S(1, 3), M(-3, -4), Y(-6, -2)

What type of figure(s) is RSMY?

23.  T(4,1),U(3,-1), X(-3,2), Y(-2, 4)

What type of figure(s) is TUXY?




24, PRYZ is arhombus withRK =4y + 1, ZK =7y — 14, PK =3x - 1, and YK = 2x + 6. Find each
indicated value. Show your calculations.

a. PY = R

b.RK =

Y

c.RZ=

P

d. m£YKZ =

25. The bases of a trapezoid are 12 and 26. Find the length of the median. Show all calculations.

26. In trapezoid HIJK, L and M are midpoints of the legs. Let NP be the median of LMJK.

a. Draw and label NP on the figure. H 62 '

:

b. Find NP. Show all calculations. / \

For #27-31, write TRUE or FALSE.

27.  The diagonals of a rhombus are always perpendicular.

28. Every parallelogram is a rhombus.

29.  The diagonals of a rectangle are always congruent.

30. If a quadrilateral is both a rhombus and a rectangle, then it is a square.

31.  Arhombus is a quadrilateral with exactly one pair of parallel sides.

For #32-34, circle the correct answer.

32. Squares are (sometimes, always, never) rectangles.

33. Parallelograms are (sometimes, always, never) rectangles.

34. Rhombi are (sometimes, always, never) parallelograms.




Geomeltry A Name Kﬁu
6.1 Properties of Parallelograms

Hour Daie

Assionmen

Find each indicated measure in parallelogram ABCD.

&g -— c
1. AB= 'D ( IH 10cm
2. Bc=_ 14 oM , N
D

14 cm

Find each indicated measure in parallelogram 4 BCD.

D
msLB = z E 1 \
mLC _—U-D— o " .

. meD = 7“

FWXY is a parallelogram. Find each indicated measure. Show all calculations.

6. VX= 31

X
I
7. XZ= |US L sz‘*"
4
3. zw= 15 2+ 4 .
9. Wr= O .

Suppose that 4B has endpoints A(-3, 6) and B(1, -4).

10. Find the lengthof 4B. | (),7] %
11. Find the midpoint of 4B . (_\I 1)

12. Find the slope of 4B - 9.5



Geometry A

Name |
6.2 Proving a Quadrilateral is a Parallelogram Hour Date
Assignment
Determine whether a figure with the given vertices is a parallelogram. Justify your answer.
Y
. O(6.-6), R(2,2),5(1,6), T(-5,2); Show all calculations, |1 A
Use the slope formula. E 7

parallelogan? 110 susiification__QPOSIE Sides Are not paralle)

2. W-6,-5). X(-1,-4), ¥(0,-1), Z(-5, -2); Show all calculations. Y] e
Use the distance formula. ' ! ‘

| |

Parallelogram? \JOS _ Justification_OPPOSHE Si0PS Qe Conmruen‘\'

3. H(, 6),J(9, 0), K(8, -5), L(3, 2); Show all calculations. TTT Y - 1]
Use the midpoint formula. -

gt e e

Parallelogram? _|[\()  Justification diO%OM‘S dO ﬂD\‘ b}SQCT



Geometry A Name

6.3 Properties of Rectangles Hour Date
Assignment
ABCD is a rectangle, .
1. IfAC=2x+ 13 and DB =4x -1, find x. Show vour calculations. B C
E
X="1 A D
2. IfAC=x+3 and DB =3x- 19, find AC. Show vour calculations. B c
E
RC= |4 A D
3. If m£DAC =2x+ 4 and mZBAC = 3x +1, find x. Show vour calculations.
B C
E
X=1|7
A D
4, If msBDC =T7x+1 and mZADB = 9x -7, find m£CBD . Show your calculations.
B C
° E
micebd= 477
A D

5. Is there enough information to state that the figure below is a parallelogram? V€ S
gu

m Justification dfﬂ%{}ﬁa‘.g bigec+

6.  RisbetweenJand K. Findgif JR = 21— 12, RK = 3n+ 10, and JK = 33 em.

n="1

7. If m&7=5x-5 and ms8=4x+14, find the value of x.

X=19




Geometry A Name
6.4 Proving a Quadrilateral is a Rectangle Hour Date
Assignment

1. Determine whether #(-4, 5), X(6, 0), ¥(3, -6), and Z(-7, -1) are vertices of a rectangle. Show all work.
(Hint: use the midpoint formula and distance formula). ¥t

is not a rectangle.

Justification: dm%DmE hisect and are mngwn'f

2. WXYZ is a parallelogram. Find each indicated value. , 2g

a= .I5 m< YWX = 50‘ A X
mZ YWZ = ZQ‘ msxvz=__ 120" 5(]“@

Z 30 Y

R
3. Find the perimeter of ARST .

P=a2A

Sy+18

T" 7/-6 )

4. Given: £4 and #B are vertical angles.
Conjecture: £4 = 2B
Which of the following would be a counterexample to the conjecture? D
—

A, mZA=45and msB =45

B. mZ4=100and m~E =80

C. mZA=9and msB =90

D. None of the above, because the conjecture is true.



Geometry B Name
6.5 Properties of Rhombi and Squares  Assignment Hour Date

In rhombus ABCD, BE =18, and AE = 24.

1. 48=_00 5. cE=_ Q4 . o
2. Bc=_ A0 6. 4c=_ 4%

3. AD= 7. DB= Ao

4. DE- 8. meaen= 40 A D

9. mZVIN= ’ 13.msVRT=_ QS

10.msTVS=_([pS" 14.msrsT=_|30° S T
1.msrvs=_(05° 15.m28TV=_5X)

12.m £SRT=_ Q" 16.msrvv=_ 90" R v

In rhombus RSTV, RS = 5y + 2, 8T =3y + 6, NV = 6, and mNTV = 30"

17. Find the value of y. Show all calculations. S T
18. Find TV. Show all calculations. R V
TV=1d

Identify the triangle congruence postulate that could be used to prove that each pair of triangles are

congruent based on the given information. If it is not possible to prove that the triangles are congruent,
choose “not possible,”

20. 21. 22,
D D E
J
t o] G F
N A c
A B c

ARS Not possible  Not possiple AAS

19.



Geometry A MName

6.6 Proving that a Quadrilateral is a Rhombus or a Square Hour Daie
. Assignment

Given each set of vertices, determine whether ORST is a parallelogram, rhombus, rectangle, or square.

List all that apply. Justify your reasoning. Show all calculations, ¥
EESmsssseeEsEEmmamy

. O(4,5),R@, 1), S(1, -5), T(-7, -1) HH HHHHE
;__. L1 L] |

MEaEn ]

H L x
!- i ___'__
HHEF

ORST is a (circle all that apply)

FParallelogra RM M
-~

2. Which one of the following pairs of slopes are slopes corresponding to parallel lines? 6

] 6 5 20 10 5 5 9
AZad S (B)Saa 2 C -Dand2 b Zaa-2
3™ 70 3”“’12 6 ™3 3 21

3. Which one of the following pairs of slopes are slopes corresponding to perpendicular lines? D

5 .6 5 .20 0 .5 5 9
. 2 and > B. 2 and — C. -— and > 2 and - —
A 3 10 3311(1]2 [ 3 & o

4. Which angle pair are # 11 and £ 16 in the figure at the right? E

A. Vertical Angles (VA) B. Corresponding Angles (CA)
C. Alternate Interior Angles (AIA) D. Alternate Exterior Angles (AEA)

Cc-nsecutive Interior Angles (CIA)




Geometry A
6.7 Trapezoids

Name

Hour Date

Assignment

1. For trapezoid EFGH, J and K are the midpoints
of the legs. Find JK. Show all caleulations.

E 17 F

K f

H 31 G

2. For trapezoid FGHI, K and M are the midpoints
of the legs. Find FI, £F and 7. Show all
calculations.

G N H

K/W\
M
AD P s

5\

3. In trapezoid MNOR, B and C are midpoints of
the legs. Let AD be the median of MNCR.

a. Draw and label 2D M 77 N

on the figure.
A f:l\ﬁ
b. Find AD. B .
Show all calculations. / \

AD=2%.5 48 o

4. In trapezoid HIJK, L and M are midpoints of the
legs. Let NP be the median of LMJK.

a. Draw and label NP H 39 I

on the figure. /—\
b. Find NP. L .
Show all calculations, N ; %‘P

J

NI I

5. Verify that A(-3, -2), B(4, -2), C(-1, 5), and (2, 5), are vertices of a trapezoid. Justify your answer.

ABCD is a trapezoid.

Justification: € {'

Yi




6. CDEF is a parallelogram. m 2 D =47". Find the indicated values.

mzC= 19 mszE= 133 mer= 47

7. ABCD is arectangle. If m£DAC =Tx + 1 and m£BAC = 9x -7, find m£DCA. Show all calculations.

A B
E

miDCA=47"

D C

In problems #8 and 9, r || 5. Solve for x, then find the measures of the indicated angles.

8. msd=x+35 mso=4x+10 9. mS5=6x+12, ms4=Tx-9
;‘2 .
e
q
x=_9_la mé4=_(ﬂa_am£2=li_‘ﬁ_ x= QI , mid= !33,m46= 4&

State the property, definition, theorem, or postulate that justifies each statement.

10. cp=cp. YefFlexive

11. If AB = BC and BC = CE , then AB =CE . TrﬂnS!h]ﬂ'ﬂ;

12.  If Nisbetween Mand P, then MN + NP = MP. __Q A 'm%mta@

13.  If MN = PQ, then PQ = MN . “E;jllmmeihc,
4. If m£7+m£8=85" and m£8=41", then m£7 +41° = 85", A&Mﬁﬂm

15, Ifﬁisthemidpninmfﬁ,men@;E.ML



Name

Geometry A
Hour Date

6.8 Kites & Quadrilaterals
Assignment
1. EFGH is a kite with ends Fand H. If EG = 30 cm, find the indicated lengths and angle measures.

ﬂa;\ = 15 gi=_ |5
£ . - - er= 7] FG=_17]_
. EH= O 8- 325
] mecpii= A0 mepr= QK

H

2. Given ABCD is a kite with ends 4 and , solve for x and find all missing side lengths.

C

3. Verify that A(1, -3), B(4, -2), C(3, 1), and D({-2, 1), are vertices of a kite. Justify vour answer,

e
=¥

ABCD is a kite.

\ 1 r

Justification:



For # 4-11, fill in the blanks.

4. The diagonals of a parallelogram ! ll‘ig{ I one another.

Opposite angles of a parallelogram are C_Y_g[u_eﬂi
6. Opposite sides of parallelograms are | aral el Mﬂmﬂj'

7. Consecutive angles of parallelograms are mm_f_ma Iy
8. The diagonals of a rectangle are m%jll_fﬂ_

9. All angles of a rectangle are CI 0-

10. Thedmgonalsofamumbusaremm b EEL‘ Eﬁl{l N i}_f
11.  Allsides of a rhombus are w

kh

12.  Complete the following proof:

Given: C is the midpoint of 4D
(" is the midpoint of BE

Prove: AABC = ADEC

Statements Reasons
1. C isthe midpoint of AD | I. G’NQF‘I
ﬁE A EEJ 2. Midpoint Theorem
3. Cis the midpoint of BE | 3. G‘ ven
4. o 4. Midpoint Theorem
BC = EC
3. 5. Vertical Angles Theorem
LACKHE £ DCE &
6. AABC = ADEC 6.
RS




Geometry A Name

6.9 Constructions of Quadrilaterals Hour Date

Assignment

1. Construct a parallelogram.




4. Construct the bisector of ZM .

Determine whether the quadrilateral with the given vertices is a parallelogram, rectangle, rhombus, or
square. Circle all that apply. Show all calculations.

B(O, 3)v E(6’ '2)v F(ls '8)’ G('s’ '3) vt

BEFG is a (circle all that apply)

Parallelogram




